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Attempt all questions. Show your workings clearly.
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“ 1. (a) Explain the need and importance of Accounting Standards. ' 3
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(a) Explain the convention of ‘Materiality’ giving examples. Does Materiality contradict ‘.Full
Disclosure’ ? ' . 5
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840
» YOU are required to prepare |
|
() Trading and Profit and Logg Account for the year endeg on 3]st Marej, 201"
and | 3 1
() Balance Sheet a5 on that date.
—_— _:““‘“'-—N
Debit Balances 3 Credit Balances ’ L4
Stock on 1-4-2016 70,000 Capital 3,00,00(
Plant and Machinery 3,50,000 Wages Outstanding 4,000
Rent 30,000 | Sales’ 15,00,000
Depreciation op Plant and Creditors 45,000
Machinery 15,000 | Bills Payable 16,000
Wages 20,000 | Discount 12,000
Salary for 11 months 11,000 | Commission e
Cash 27,000
Purchases 2,70,000
Debtors 80,000
Carriage Inwards 4,000
Bad debts 6,000
8,85,000 8,385,000
Adjustments

()  Stock on 31st March, 2017 was < 96,000.

(#)  Stock destroyed by fire was T 6,000 and the Insurance Company accepted a clajp |

for ¥ 3,600.
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(i) ¥ 1,600 paid as rent of the office was debited to Landlord account (included in

Debtors).

(iv) Write off further bad debts ¥ 4,000.

Sales include sales on return basis. Approval for sale of ¥ 2,500 has not been received

till 31-3-2017. The rate of gross profit on this sale was 25% on cost.

T & fefafed Tad Sg ¥ YR g9 © ol

@ 31 99, 2017 B @ g & U mpR @ Aw-wl @,
Gy & fafa =t o™ e '

™ TN 3 T 9" z
1-4-2016 ® WIH 70,000 | st 3,00,000
e T Wi 350,000 | TR wHTEI 4,000
T 30,000 | fershl 5,00,000
e T HEAd W AR 45,000
Hagau (FH) 15,000 | <4 faw 16,000
LR 20,000 | T 12,000
11 HEAl &1 oA 11,000 | FHHYE 8,000
TFe 27,000
] 2,70,000
STER 80,000
T 2,000
JMaF AIEl 4,000
A RO 6,000
i o -
885,000 - 8,85,000
. e
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A T 3,600 F 7,

T X 1,600 7 e 3

2,500 =t fomt & fam
W A W 25% i

Prepare an Income and Expenditure Account for a College for the year ended 31st March

2017 and a Balance Sheet as on that date from the following information

e

10

Receipts 3 | Payments 3
Cash (1-4-2016) 50,000 | Pay and Allowances 22,00,000
Postage Stamps (1-4-2016) 700 | Books for Library 50,000‘
Tuition Fees . 2,00,000 | Postage and Stationery 12,000
Fines 10,500 | Newspapers 2,000
Annual Grant from Government 30,00,000 | Science Lab Equipment 22,000
Interest on Securities 28,000 | Repairs and Maintenance 18,000
Rent from use of Hall 70,000 | -Audit Fees 8,000
Grant for Byilding Fund 20,00,000 | Additions to college building | 30,00,000
Cash in hand (31-3-2017) 46,600
Postage Stamps (31-3-2017) 600
N ) - 53,59,200

P,
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The College had the following assets on 31st March, 2016 :

Furniture — ¥ 3,00,000: College Building — ¥ 4,00,00,000; Library Books — % 80,000,
Science Equipment — ¥ 3,00.000; 10% Investments — ¥ 3,00,000 and Oustanding

Tuition fees — ¥ 22.000.

Provide for Depreciation on the closing balances of the following assets :

Land and Buildings @ 5%: Fumiture (@ 15% and Library Books and Science Equipment

@ 20%.

31 HE, 2017 9 GEE gC 98 & AU Us S @1 AE-HF @il 93
Fifgn qo fFofafed e 4§ 34t fafa =t Soig sfe +ft sAET .

vt 3 | S"a z
FHe (AFT) (1-4-2016) 50,000 | 9 3R s 22,00,000
T fewe (1-4-2016) 700 | cEed # forg faparat 50,000
TFH wE 2,00,000 | S T wIEH 12,000
A 10,500 | FEMER-T5 2,000
TER | 9ftw IFHH 30,00,000 | faaM o9 STl 22,000
wfayfedi @ == 28,000 | FOEA vd T@TEE 18,000
| % Swam 4 oo 70,000 | STET-UL&or Yoh 8,000
veq fafy & faw @ | 20,00,000 | Ffaw fafeen # gfg | 30,00,000
BEY qFS (31-3-2017) 46,600
ek fewe (31-3-2017) 600
e 53,59,200 o 53,59,200
i e v 9 —

P.T.O.
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X purchased a second-hand machinery on 1-2-2015 for ¥ 80,000; paid ¥ 12,000 fi
its overhauling and ¥ 8,000 for its installation which was completed by 31-3-2015. Th
company provides depreciation on its machinery at 20% p.a. on diminishing balance metho
from the date it was put to use and closes its books on 31 December every year. O
1-10-2016, a repair work was carried out on the machine and ¥ 5,000 were paid fo
the same. The machine was sold on 31-10-2017 for a sum of T 21,000 and an amoun;'

of ¥ 2,000 was paid as dismantling charges. | - |

Prepare Machinery Account and Prbvision for Depreciation on Machinery Account fron
2015 to 2017. !

X 3 122015ﬁ?80000ﬁ@wmﬁﬂ@ﬁ3? T T & fel
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What is the significance of inventory valuation ? What is the difference between Periodic

and Perpetual System of Inventory Valuation ? ¥ 4

T G e B e § 2 onafus w@ TR 6ol g e
Tgfd § & W ¥ ?
Or/(3eTaM)

Kavita purchased a machine for ¥ 80,000 on st April 2015. She charges depreciation
on Straight Line Method and closes her books on December 3 1st every year. The machine
has a useful life of 8 years after which it can be sold for ¥ 8.000. She purchased another
machine on May 1st 2016 for ¥ 45,000 with 5 years useful life and nil residual value.
In 2017. the first machine was sold for ¥ 50.000 on June 30th when a new machine
was purchased for T 30,000 with 3 years useful life and ¥ 3,000 as residual value. Prepare

the machinery account for the 3 years ending December 31, 2017.

Ffaar ¥ 1 3, 2015 F T 80,000 § TH [y @) | g Wit ¥@n gFfd
R T@H F AR w € AR w@E ad 3 KRR | o g 5
wéﬁ%:w&ﬁ?msmmmﬁsﬁmﬁ%mm@?&(}m
¥ A= o GHAT L1 ST 1 WE, 2016 W S Ui @ IwARD Saew AR I
IR woop o W1 ¢ 45,000 § TH SN Wy @A) 2017 H UEEH e

‘ P.T.O.
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(b) Calculate the valut’g"’f closing inventory according to Weighted Average Method o,

- March 31, 2019 :

March 01 (Stock in hand) 600 units @ % 12 per unit

March 05 Purchases 7,500 units @ ¥ 13 per unit

March 10 Sold ' 6,000 units @ T 15 per unit

March 12 Soldl 1,100 units @ ¥ 18 per unit

March 14 Purchased 5,000 units @ % 13 per unit

March 22 Sold 4,500 units @ ¥ 23 per unit

March 30 Purchase returns - 500 units (out of goods purchased on March 14)

31 91, 2019 H Wi o fafy & oTER wow ww g g #
FIfST | | o

01 A (@9 #F wH) 600 IR @ ¥ 12 W AR

05 W& 7,500 e @ 7 13 wfa gfFe &t @lg

10 6,000 312 @ z 15 wfa g w1 fomt
1299 1,100 3R @ 7 18 Wt gfe w fawt

14 A4 5,000 gFE @ z 13 wfa e @S
22‘111?i4,500211”‘-12@?231;11%1‘IF”'H'°"‘2fﬁ"'§"3T

30 9 H @l A s00 gfrRe (14 W W SR M wgmE § Q)
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(@) Sharma sold 5 machines costing ¥ 1,00,000 each t Verma of hire purchase basis on
1-1-2016. Verma paid Z 1,00,000 on the above date and 2greed to pay the balance
in five yearly instalments of T 80,000 cach together with interest @ 10% p.a. starting
from 31-12-2016. Verma charges Depreciation @ 10% paon Diminishing Balance Method.
Books are closed on 31st December every year. Vermacould not pay the third instalment

in time whereupon Sharmﬁ repossessed two machinesat an agreed value of cash price
less 40%. .Sharma sold one of the repossessed machines for ¥ 45,000 after incurring

% 2.000 on its repairs.

Show relevant accounts in the books of both the parties showing all your workings. 7

T X 1-1-2016 F THTA FT SUR W Y& 2 1,00,000 HI AR At
ﬁamﬁaﬁﬁﬁlaﬂi?{@ﬂaﬂﬁlﬁxﬁﬂpo,ooomwﬁm
wﬁqﬂﬁiﬁﬂfﬁﬁ31-12—2016'@?15@51-?1@91:66&@10%@?{
J oS & WY % 80,000 H U fervdl § YWH & & fau ¥eHd g
o X gEEE W T | wfa ad 10% g g Al /WO
31ﬁnmaﬁgﬁ%ﬁa€raﬁﬁ|aﬁwmamﬂmﬂw'
o we ol ol A D W W R oy @ 40% A Fed e

mgﬂﬁmﬁmlmﬁﬁmﬁnﬁmﬁiﬁﬁwﬁnmoﬁm
FT B qE T 45,000 F T fm |
ST Tt r-faa frER e S el @ ger 8 W @ e

®) How is Operating Lease different from Financial [ case ? 3

TN g fania gea @ fEE WER firm T 7
- P.T.O.
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(@) From the following paﬂiCU]ars find the profit for the year ended 31 -03-2019 using Stock

and Debtors System. The gross profit is 30% on sale price : 7

2018 _ 2

April1  Stock inthe shop 18,000

April 1 InstalmentS Overdue . 20,000

April 1 Stock out With the customers at H.P. price 40,000
2019 |

March 31  Stock in the shop 63,000

March 31  Instalments Overdue _ 22,000

Goods purchased for sale on H.P. during the year 1,85,000

Cash received during the year 1,80,000

Goods repossessed (Instalments due S,OOb) valued at o 2,000

ﬁmﬁmﬁmaméwmmwmgq31-03-2019@%
a‘f%mammaﬁﬁmﬁﬁq@wwawsiso%%:

2018 | §
13E @ et 18,000
1 3T THRT fheq | 20,000
1 38 Hp. T 9 el & stock out 40,000
2019
31 WM gEH i W 63,000
31 A ww forwd 22,000
@ S Hp, @ fasl & few wd@er e @@E 1,85.000
g & A gy qee 1,80,000

e A TR (e faRvd 5,000) Hfewd 2,000

f



(b) Give Journal entries in the books of Lessee in case Of Financial Lease,
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Mrs. Lahiri & Daughters, Delhi has a branch a¢ jaipur. Goods are invoiced at cost

plus 25% which is the selling price of the branch. From the following, prepare

Jaipur Branch Account (Debtors System) to calcylate the profit for the year ending

31st December, 2018 :
Balances as on January 1, 2018
Branch Stock at Invoice Price
Branch Debtors
Branch Cash (for Petty expenses)
Transactions during 2018 |
Goods invoiced to Branch
Goods returned by branch to head office
Credit sales at branch
Cash sales at branch
Cash received from Debtors at braﬁch
Cash sent for Rent and Sélaries to branch
Discount allowed to branch debtors
Petty Expenses at Bn;anch
Balanc.es as on 31st December, 2018
Branch Stock

Branch Debtors

7

35,000
75,000

4,000

3,00,000
12,500
1,75,000
90,000
1,76,000
28,000
1,000

3,000

60,000

P.TO.



( 12 ) siti

iy it wd A S w R d e ¥ W e sy
st gRfia 0 S St @ fae e #) FrEfafae 3 )
ﬁwa?,zmsaﬁmﬁgﬁaﬁad%ﬁmamaﬁmaﬁﬁémw
W@Tﬁl(mmmmm:

| S, 2018 A 9 TR | .
dies IE WIS T 35,000
I SR - 75,000
e g (G T % o) 4,000

a9 2018 & IRA -
diS/e W v w AT AT 3,00,000
T g s e @ A 12,500
e SR ﬁﬁ 1,75,000
e q T fa | 90,000

E H SRR W ke 1,76,000
femm wd S & fog S wmEr #1 AT 28,000
v dd w g e @ 1,000
o 5, W 3,000
31 femmay, 2018 w1 99 ufyr

e - ' 60,000

IMMEl 48R ,
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(h) A Company has 3 Departments for which the details are given as follows -

Department A pepgrtment B Department C

Floor Area occupied 20% 30% 50%
Sales 1,00,000 2,00,000 3,00,000
No. of Employees 100 120 150

Allocate the following expenses to the 3 departments :

Rent

< 80,000
Lighting ' ' T 12,000
Selling Expenses ' 3 42,000
Labour Welfare Expenses T 18,500

% wE ® AW faum ¥ R foe ferger & TR
fauma  fymp - famc

AfuFd w1 Tfen 20% 30%, . 50%
far 1,00,000 2,00,000 -~ 3,00,000
FUSME H HEm 100 120 150
d faurd # st @

feparn Z 80,000

AR Z 12,000

fast @ 2 42,000

TN =Y Z 18,500

P.T.O.
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(@) M/s XYZ Ltd. has bran®S at Delhj ang Agra and goods are invoiced at cost plus

8403

a profit of 20% on sales. The f0110Wing information is available of the transactions at

Delhi branch for the yet ®nding 31st March, 2018 -

7
L4
Stock at Invoice Price (14-2017) : 40,000
Debtors (1-4-2017) | 12,000
Petty Cash (1-4-2017) | 150
Petty Cash (31-03-2018) - _ 250
Debtors (31-03-2018) - ' _ 11,000
Stock at Invoice price (31-03-2018) | 50,000
Transactions during 2017-18 :
Goods sent to branch (at cost) o | 2,61,000
Goods returned by b;fanch to HO (at invoice price) 15,000
Cash sales 1,05,000
Credit sales 1,80,000 |
Normal loss at [p 350
Goods Pilfered at [p - 3,000
Cash sent for perty expenses 32,000
Bad debts at Dejp; ‘branch | e
500

Goods returned by Debtors
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You are required to calculate the profit by maying the Branch Adjustment and Proﬁ.t.

and Loss Account under Stock and Deby, gystem.

3 xyz fa # R a0 SR § g & IR T T A R w
zo%émafgammﬁmm%,nnﬁ,zmsﬁmaﬁaﬁ

aﬁﬁmﬁﬁwﬁaﬂéﬂﬁﬁqﬁaﬁmwﬁwﬁz

do g W I (1-4-2017)

TR (1-4-2017)

U THS (1-4-2017)

e TS (31-03-2018)

IR (31-03-2018)

9% g W WF (31-03-2018)
2017-18 & A TR ¢

@ H A 9N (A W)
S g A wEE & me o d (s T T
T fawi |
YR ferel
P R A EfA
P R AA 3TURd
geq @b & fag T8 A
feoelt wmEn A sEned ®O
RS-l G IR

L ¢
40,000
12,000
150
250
1 1,000

50,000

2,61,000
15,000
1,05,000
1,80,000
350

3,000
32,000
400

500

PTO.
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(b) State the basis of allocation of common expenditures among different departments; 3
fafim faurt & ¥ W =@ & smHe @ snur R

A, B and C were partners in® firm sharing profits and losses in the ratio of 4:3:3 As
on December 31, 2018, they decided to dissolve the firm and B was appointed to realise
the assets and distribute the cash. B is entitled to 5% commission on the amounts received

from stock and debtors. Thf: Balance Sheet of the firm on the date of dissqlution was as

below : - 8 | 10
Liabilities < Assets 4

Creditors 6,00,000 | Cash at Bank 15,000
Capital Accounts : _ Debtors 4,55,000
A 3,00,000 : Stock. ; 5,00,000

B 2,00,000 | 5,00,000 | Profit and Loss Account 1,00,000
Capital Account - C 30,000

11,00,000 R 11,00,000

B reported that the assets realized as -

Debtors ¥ 4,50,000; Goodwill Z 20,000 and stock Z 3,50,000. Creditors were paid ¥ 5,75,000
in full settlement. However, an old liability of the firm was found that was omitted from the |
books and had to be paid T 25,000, C was insolvent and paid only 50% of what was due

from him on his own account.

Prepare Realisation Account, Bank Account and Partners’ Capital Accounts.
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ABTMC4:3:3% M0 T W 3R gy gt 1 T TF B 3 wie
Gy 31@@,2018@3?ﬁﬁ¢ﬁﬁﬁnmmmmm3ﬁumﬁﬁ
T FA 70 TR ol FA B o g A T B W ik I
WG AAE W 5% FHEH FFHRGR ¥ fymer A R B F Sl v

= TR o

T 3 ﬂfi‘qmﬁ;f 2
RN 6,00,000 | S # IHE 15,000
PSR TR 4,55,000
A 3,00,000 ESiC) 5,00,000.
B 200,000 5,00,000 | wTH-=H TREn 1,00,000
T @@ - o 30,000
11,00,000 11,0(I],.0I00

B X =g f wwfedl Y ogell 39 yaR §©

e —

SR T 4,50,000, G T 20,000 3R T ¢ 3,50,0001 AR B L g A
2 575000 21 %) wEF wH W wH W qhrm T oA B IR {
a2 fear T A TR 2 25,000 F R fy i A1l € A & TSR
36F @A Y dad 50% 61 YA fea myp e

Ww,ﬁamawwﬁaﬁ%‘rbﬁ@am"

PTO.
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Sarita, Gunjan and Reemd#€ in partnership. The following is their Balance Sheet as o

31st March on which datethey dissolved the partnership. They share profit in the ratj,

Sz3 5l 10
Liabilities L4 Assets 4
Secured Loan 1,00,000 | Cash at Bank 20,000
Creditors 2,20,000 | Debtors 3,00,000
Gunjan’s Loan 50,000 | Stock 5,00,000
Sarita’s Capital 3,00,000 | Profit and Loss Account 1,00,000
Gunjan’s Capital 2,80,000 | Reema’s Capital Account 30,000
9,50,000

9,50,000

It was agreed to repay the amounts due to the Partners as and when the Assets were realized.

There was a contingent liability for T 15,000. Expenses of Realisation were estimated at

¥ 10,000. Assets realized as follows :

15th Apri]
st May

31st May

Prepare a statement showing the distribytion of cash among the partners,

T 50,000

¢ 1,96,000. Contingent liability was paid ¥ 10,000.

¥ 1,84,000. Actual ®Xpenses amounted to T 8,000.
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#ﬁm,ﬂaqaﬂiﬂmﬂvﬂaﬁﬁﬁl 31 T gy I N v ey
e’ & wrfiert 1 i e 2§18 5032 F I AW W e

EG
g M P S— 2
doga = 1,00,000 % # fr;; 20,000
SR 2,20,000 éqm | 3,00,000
TSH &1 R 50,000 | & 5,00,000
gt &t gei 3,00,000 | TNH-TIF @l 1,00,000
T & sl 12,80,000 | T w1 USH ov@l 30,000
9,50,000 9,50,000

mqﬁumﬁﬁ;ﬁa@ﬁgﬁﬁwﬂarﬁﬁmw—@ﬁmwﬁfz@
215,000 % T smwfems o off | aget @ @ ¢ 10,000 FF H T T

T ufEEtaE T YR 99w
15 3 T 50,000

K:H ? 1,96,000 | SR g 1 yiae fewan ¥ 10,000

R 4 1,84,600! &g @9 T 8,000 Y
wwier & A T 3 o @) qufy T - fm RS
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(a) State with reasons in brief whether he following

statements are true or false : (9

(1) Void contracts and voidable contracts are

~one and the same thing.
(ii) A stranger to a consideration cannot sue.

(iii) Indirect loss can only be claimed by the
aggrieved party if it is in the contemplation

of the parties.

(b) Mistake results in a contract to be void, valid as

well as voidable. Elucidate. (6)
OR

(a) State with reasons whether the following

statements are true or false: (9)
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(1) A minor can ratify contracts.

(11) Fraud and misrepresentation are the same

thing.

(1) The parties are free to make their own

bargains.

(b) Harsh promised to pay Rs. 10000 per month to
his wife Sunita for her medical treatment. Is
the contract valid? Does Writing and registration
in any wlay affect the validity of the contract.

Explain. - (6)
(%) dftrg o @wor Ta¢ & = FAwlafas was 8 @
MeAd -
(i) Freds s sk ® frn sy v ¥ v
qHATAE 2 |
(i) o= feR = fom v somE W Fawew 98w
q5d |
(iii) A FHFAR & JA Fad I YT FR
faar o a@@ 2, gfe 98 wifFa @ fRaw ¥

R.T.O.
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(®) g ¥ ot 1 o Frodes, 3 o w1 A g
FONT B B W

rerar
(%) vl = A qa f Frafifes su o 2 a1 .
(i) thaaahaﬁg&wmﬁn
(i) oS @R o T T @ We 2

(i) wféar s = 2 WRah wE B R @TT
g

(@) * F o oot T A I R SwaR @ R
Wi W& 10000 TA I F T R | TN ey Ay
27w 5l Wt o A hew Ak TR sy @
U A ywIiaT WA R ? T @

2. (a) All insurance contracts are wagering contracts.
Discuss. | (5)

(b) Define certain relations resembling those

created by contracts and discuss any two of them
in detail. (5)
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(c) In case the Bailee does not receive payment
ander the contract. Which right is available to
him? Discuss this right in detail, Discussing the

kinds as well as bringing out. the differences 1f
any. (5)

OR

(2) Impossibility of performance is not an excuse for

performance of a contract. Explain. . (5)
(b) Surety 1s a favoured Debtor.. Discuss. (5)

(c) A delegate cannot further delegate. Elaborate this

statement. | (5)
() akt o gEy weEER (Jw) sy ¥ o

(&) seEdt Z@ T Y Pfaw gl F anfia =R
I A B A W fRww A =

(1) FEy & qES AR A R A A8 fiemr 2 @ 39
F @ AfUER e 2 7 39 R W fRER 9@
o9 | YR W T wE @ ad-9y g &
AT B A IA IFER W | |

P T
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rean

(m)mﬁﬁmwm%mam%

TEH A8 ] ) wWee @ |
(a)mwa@ammﬁ%naﬁﬁl

(1) v w48 @ awa ) 3@ w9 2
fomga 9w |

3. (a) Define the term Goods under Sale of Goods
Act. - | (5)

(b) Right of stoppage of goods in transit is an extension

of unpaid sellers right of lien. Discuss. (3)

(c) Arun contracted with Vimal to deliver 100 kg of
rice, but on 25th October he could deliver only
30 kg but his intention was to complete the contract
When is property in goods deemed to be passed.
Will the answer be different if the intention of the
party is to severe the contract from the whole

(5)

contract.
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OR

(a) (1) Why is it important to determine the time in

which ownership will pass? (3)

(i) Is right of resale available to the unpaid seller.

Comment. (3)

(1) Goéds are delivered by Ma'hesh, a seller
for transmission to Bablu the buyer. The
goods are loaded on 25th October on a
“carrier without the seller reserving any
right of disposal. If the goods get damaged
or destroyed on the way who will bear
the loss. Will the answer be different if

the seller reserves his right of disposal.

(3)

(b) Define sale and differentiate between sale and

agreement to sell. (6)

(=) weEn (W) o sfefRas & @ea arnl (W) o=
R &Y | "

P.1:.0.
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(ﬁ)wﬁma}mmmm@w%
saaf Rama @ v faew ® 1 s

() s 100 R T 23 % forg e & e A
R, AT 25 AW W 98 Faw 30 Foel AT
w,ﬁﬁﬁmmmﬁﬁ“ﬁ@wmm
e R b A R R L
o e BT AR O @ e W ey ¥ w
il

Jrerar
(=) (i) o wfies WG BN Sad g FUiRA HET
4 AeaT @ 7 |

(i) fwa =1 sfter sEate o & g
Ire B 1 fadwAr @i

(iii) @M @ieR T@d w e & foe faga R
g fear wmem ® 1 WS @ 25 HECER W T
AeEEd WA o W @, faeher @ qw faen
a5 fgem sfter &1 ot wo afowe &



o ® R A A 8w @ A JHA B
S 7 aR A sy Boee w0 afEr

g v @ I A B 7

) R R v R ok R e e B g ol
R W FR W W

(a) Explain the term designated partner. Discuss the

provisions regarding appointment and eligibility

condition of designated partner. (5)

(b) Explain the procedure and effect of converting a

firm into an LLP. (5)

(c) Provisions of taxations for LLP have evolved over

time. Discuss. (5)
OR

(a) LLP is a hybrid between a company and a

partnership firm. Discuss. (5)

(b) How are auditors appointed in an LLP? (5)

P.T.O.
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(¢c) How can an LLP be incorporated under LLP Act

20087 ©)

(E)ﬁﬁlt‘wﬁmmaﬁmaﬁlmﬁawﬂmaﬁ
ﬁgﬁqaﬂimﬁ%aﬁﬁmwﬂﬁ‘

(@) T W B geeed ¥ sen A A o T ®
¥ T | |

(@) W%mmﬁw.m%mmﬁ
RSl

Hqar

(F) Tw = W TE @A D A e
wife (W) 21w W |

(@) Wﬂ%fawuﬁwﬁﬁaaammﬁ%‘?
(1) vemedt sfofaw 2008 B TET TAOAR T 2 whE

farar o1 wear 2 7

5. (a) Information and Technology Actis not applicable

to which contracts. Enumerate. (5)



RS
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(b) Differentiate between

11
private and public key.
(5)

scriber and what are his duties

()

(¢) Define the term sub

under the IT Act.
OR"
f certifying authorities. (5)

(a) Explain the powers O

(b) Explain Digital signature and how are they

different from Electronic signatures. (5)

(c) What do you mean by Cyber Terrorism? (5)

(m)@maﬁ?;ﬁ@ﬁlﬁmﬁm,wmwmqﬁ
2 frga e wW

(@) Bt sk s B @ A9 R R |

() o T F AR SR IEE s F Aed
IqP FAd WM B 7

HAQT

() sftefal =t wlE Wy o AR 8 o W o

P.T.0.
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| (w) Rfves wame N =ren A A RIS Tws
¥ o 27 |

(w1) 'anﬁn'awéaﬁna'% e @ At 2 7
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-(a)

(b)

(1)

(%)

(a)

(b)

(% ) | 7003.

What is Human Resource Management ? Examine the role of
Human Resource Manager in the fndustn'a] organization. §
Define the term Employee Empowerment. Explain the benefits
of .enr.lployee empowerment to employée's and the
organization. 7
e EEEA §eUE a1 €2 SNt wed H
HAE A Feus H YT w1 qherr sifsd |
Fer W S R iR | wE=E
T WS I HHAR TURKE B A TABH |

Or/3TqdAT

 “HRM is not restricted to hiring and firing of people.”

Comment on the statement and discuss the functions of

HRM. ,' ' 8

Define Human Resource Policy. How do HR policies

benefit the organizations ? 7

(31) “‘HrE GEEE yeye Al W @ SR

wmwﬁﬁaﬂﬁ%l”wmmm

feopoft i@ qen ArE TR wEER ® @t
# == FifE |

i

(3) ArE goeE Hifs #1 s st/ @@

e A ¥ dred ) own @w @ §2



(@)

(b)

(37)

()

(a)
(b)
()
(&)

(a)

{ 3 ) T1

Briefly explain the steps involved in the process of

employee selection, 8

“Job description and Job specification are the two

by-products of Job analysis.” Discuss this statement. 7

Eﬁaﬁwaﬁmﬁwﬁmmﬁ%aﬁ
q 999 ¥ wasd|
“IF0 W faEw @ S Fq’ﬁé‘m Tt
%ﬁm%&‘rﬁﬂﬁ%l"-m FU HT =
FITS | '

Or/3AAT
Discuss the various sources of recruitment. 8
Distinguish between ‘Placement’ and ‘Induction’. 7

ugdl & fafisr @l w5t fadsm SR
‘Grgfiz’ qm ‘gewm’ W fave wR)
Discuss the significance of training to both employers and
employees. Why is ‘On-the-job’ training preferred for the B

operative employees ? 8

i




( 4 ) | - 7003

(b)) What is Performance Appraisal ? Explain Management by
Objectives (MBO) as a technique of performance appraisal. 7

(1) P s et A ®) Sfee @ TE
FH o= Fifd ffes =@ & fau

‘et T e wfam & weg feE Sm ®2

(@) froaed g # €2 froueA gewed Wi

Uh qohle & ®9 H 3ITAl gRI WEHUF (MBO)
& AT i |

Or' AIAT

(a)  Differentiate between sensitivity training and role playing,

How is role playing useful in management

development ? 8

(b)  Distinguish between Promotion and Transfer. Also discuss

the different bases of promotion. 7

(1) Wit e w e e § s e

W e e d e fee fee e
SYERt 2

(@) T T § e i St 2
i st = s e w6



(@)
®)
(31)

(%)

(a)
(b)
()

(%)

(¢35 ) 7003

Explain the meaning and causes of industrial

disputes. | 8

Explain the concept of employee health. How do working

p]

conditions affect employee health ? 7
Aafte faai & A4 W@ FROT H AR
Hife | |

-

S e # ST # SR WIS |
F #i feafral FHERt & @ w1 &9 g
= E? |

Or/3TET

Why do grievances arise ? Explain the procedure for

redressal of grievances. | 8

Explain the different types of fringe benefits provided to

the employees in India. B
e F e A §2 e @ Fewo
1 wfera wamEd |
are & A B vER Y o A faf
YHT o STIE ol I AU i |

PO



5. Write notes on any three of the following

(@) 360 degree Performance Appraisal

(b)y  Work-life Balance

(¢) E-HRM

(d)  Significance of Job Evaluation

() Socialization.

oo # @ fedl @ W feemh fafeg
(1) 360 ferlt wewM e

(7)) wESET TgeE

(9) I-9a GEEE TEEA

(7) S HeAhA &1 Hee

(2) FHTSIIRTOT |

7003
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(c) Attempt all questions. Marks are specified
against each question.

gl e HA e ATD gt @B ik I

e feifRa 2
1. (a) Mr. Pankaj Kapoor (50 years old) an Indian

citizen left India for the first time 00
57.9.2018 for employment in Hong Kong. He
earns the following incomes during the
previous year 2018-19:
ffr.dzﬁﬂas‘gjf(rmSoas?)qaﬁam‘cﬁﬂﬂﬁTﬁzﬁ
B LA A n i I U R LRI fe=tieh
57.9.2018 T A BIS faor, Ieoi fasd
201&19%%%@3@%%:

Particulars Amount (3)
RrarcoT eerartar (%)
Income from House property 2,50,000
in India

qr § weae -aer d ST

Fees for technical services - 45,000

rendered in India but received
in Hong Kong

qree 7 el AT S A
T geeh U BTl F ura g3

2
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pee for technical services rendered 34,000

in Dubai but received in Hong Kong

s | qepes dard wae B

F gH S =R H AT g3

income earned from a business in 2,00,000
Singapore which was controlled
from Delhi (3 50,000 is received in
India) |

Rl A ﬁ-q%m R § FEaE
s (T 50,000 ARG H =< fepa)
Interest on debentures of an 12,000
Indian company received in

Hong Kong |

wﬁmﬁaavﬁr % o (eamer) @

= S BT H T 8%

Rent from property in Nepal 80,000

received in Hong Kong

mﬁaﬁmﬁfﬁﬁﬂmﬁ[
ENTERAT H urd §%

3 P.T.O.
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Determine the residential status of Mr. Pankaj,
(giving reasons for your answer) and his taxable
income for the assessment year 2019-20.

| 8

%ﬁQ%ﬂqalit%aTﬁRﬂﬁWaﬂﬁfWaﬁ

(TR IER T HROT Fad gY) oA feier av

2019-20 & o HGeHT oMF & |

(b) Income earned during the previous year is

chargeable to tax in the immediately
following assessment year. State the

exceptions to this rule. D -

e af & SR o o gdEe Rrator
99 F FT AR B 39 P B emwae gqard |
 OR
ST

(a) Determine the taxable ihcome and tax
liability of Ms. Kalyani Rao (60 years of age)

for the assessment year 2019-20 from th

e
following information for th i
€ previou
2018-19 - e

8

e a 2018-19 & Ry TETet B awy

'jo'“?" TR T (I 60 af) B Frerier o
19-20 = ST

o L :WEW Ol % e oy

4

}
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— particulars Amount ()
fraxoT e ()

/_ . )
(i) Gross salary per annum 7,50,000

iy a Feger a9 .
(ii) Gross Agricultural Income 9,60,00Q

gt iy Ay oTd

(iii) Expenses incurred 1,80,000

on earning agricultural
income
B IFT TF B IT T
g H T EH
(iv) NSC (VIII Issue) | 40,000
purchased on 01.01.2019
T "=a 9= (eTedl FEIq)
&= 01.01.2019 &' &I
fopar &
(v) Contribution to Public 1,20,000
Provident Fund
st wfs ffr & sigm
(b) Explain the term ‘assessee’. 5
“PHIETAT A Pl ATET FY |

0 ~ PTO.
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2.

¥

Mr. Alok (a resident individual) retires from
Reliance Retail Ltd. Bengaluru on October 31,
2018 after completing 19 years and 11 months
of service. He receives the following
remuneration for the previous year 2018-19.
Compute his income under the head Salary for
assessment year 2019-20. 11
B, o (o1 |d g AR Rema e
fee, dvae @ 19 a¥ 11 #18 # Al &
gs=Te fesie 31 etaeay, 2018 i Jai+-gd Bid & |

gz fos a¥ 2018-19 & fou =1 iiaifuess ar |

FE ¥, 399 MURer a9 2019-20 F Rw a9
2ol & &g g @ TOET Hhi |

h Particulars

Amount (3)
fargzor SERUEIENGY
Basic Salary 1,80,000 p.m.
oo e 1,80,000 ufcHe
Dearness Allowance 35% of Basic Salary

(40% forming part of all

retirement benefits)

g a9 1 35% (Tanfrga
< TROT Y o U H 40%)

6



Interest free loan
s dod T

House Rent Allowance
gY & fpEar 9=

7004

Employer company gives
an interest free loan of
3 6,00,0000n01.07.2018

which is fully repaid by Mr.
Alok on 27.10.2018. SBI

lending rate is 12% p.a.

f&=ies 01.07.2018 a1
e e < 6,00,000
T STST Rd FROT & S
fir. oTeles & Bk
27.10.2018 @ oI T
=¥ 2T =T | THo Hio 330
& B HI =T &8 12%
gfeay 21

% 68,000 p.m. (rent paid
by Mr. Alok is X 65,000 p.m.
from 01.11.2018, he resides

in his own house)

¥ 68,000 ufcHE (f&<TH
01.11.2018 & fiy. aT<ires
a1 ¥ 65,000 ygicHre
Y fopar 3 g8 319w
ot aX # & )

7 PTAL




7004

Innova car (2494 c.c))

ST X (2494 c.c.)

Pension

SEIE)

Car is owned by employer .
company and provided

to Mr. Alok for official as
well as personal purposes.
Diesel expenses and

Chauffeur’s salary iricurred
by Mr. Alok : 14,000 p.m.

e ut A 19l s
FX HI H. AR Ht 396
AT T A ITIRT
% fora f&ar | s = og
ol @d & o . et

a7 14,000 ufcHre o=
7 |

< 1,00,000 p.m. (he

gets 40% of the pension

commuted for ¥ 20,00,000
on 01.11.2018)

< 1,00,000 ufemme (R
01.11.2018 & G Hafaa
40% % 20,00,000 F R
o< o)

8
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Gratuity < 25,00,000 (Covered
Pl - by payment of Gratuity
Act, 1972)

< 25,00,000 (¥=g<t e
AR , 1972 F IT=wia)

Accumulated balance ¥ 30,00,000
from Recognised

Provident Fund

qaTioTd wigey fafy

SR |fere, a=efar

Gift from employer < 18,000
company of Microwave

oven at the time of

retirement

A 8 & a9 FEEE

FAl BT IUBR F HI=mhae

SICE]

OR
HET
(a) Give four instances where annual value of
house property income is not charged to tax.

2
aﬁﬂamﬁfﬁmﬁmmwaﬂﬂﬁ
AT T ST IE0T () ST

9 P1.0.
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(b) Ms. Shilpi (a resident In’divicilual, age 5(51
years) owns three houses wh1qh are us}i
by her for residential purposes. }?‘rom the
following information, suggest Whl(;:h house
should be opted as self occupied and
accordingly determine the income under the
head House Property for AY 2019-20. 9
s Riedt (55 af < @ Te areh) R
S Pl Wae oA STE & Jesd d
Frafafed goT @ oTgR W e 3 %
PH-ET R OB @Wd B ST H T W

Rrgfrer ad 2019-20 & A wo= gwaRr 200
g oy fHruier &Y

Houses A B C
qg=t @ faEeer T - s il
Municipal value | 5,80,000 10,00,000 - 6,50,000
e (Frrfa) e
Fair Rent 5,88,000 10,00,000 6,30,000
ST (Fo) ferran |
Standa.rd Rent 6,00,000 10,00,000 6,00,000
=g T |
Munici al t
| pal taxes 10% 10% 10%
paid by her |

FrT & o o oz
RSCINIEZ o

10



Repairs and Insurance 36,000 65,000
premium
woud HE T =
fifae
Interest on Date of 11.08.2017 01.01.1998
Borrowed borrowing
capital IURX A B
oy

(Capital was Current  1,85,000  1,00,000

borrowed for year's interest

construction  IJHM ¥ FHT

of the 25

properties) Aggregate 3,40,000 NA
of Pre
construction

period interest
YR Al T
gAY 9
%fhﬁw%l 9d T AT
ELIEEII |

)

11

7004

1,80,000

02.04.2015

36,000

4,30,000

P, T.0.
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3. (a) Sureshisowner of two buildings which are
used by him for his own business. Th.e
written down value of these buildings 1s
% 15,00,000 on 1.4.2018 and the rate of
depreciation allowable on this block is 10%.
He purchased another building on
1.12.2018 for ¥ 25,00,000 and sold one of
the two old buildings on 1.3.2019 for
% 18,00,000. Transfer expenses amounted

to < 20,000.

Compute the allowable depreciation/ .
taxable capital gain for the assessment
year 2019-20. | 4

W & HIHl H AR & .-\II 3% I
3% Ao Faam # g R S ©
Gl

- fesis 1.4.2018 Gqﬁa?r [ 2
a8 % 15,00,000 =eriar /r 8 SWX 39 =016 B

v %1'3{. 10% 79 9 wipa fpar & Iaq
G 1.12.2018 = ¥ 25,00,000

He T [T IR 9B B ar wedl ¥ 9§ usm

99 % 18,00,000 # &+ 1.3.2019 @1 Repy
B A e s e ¥ 20,000

femaT | -

Faer a9 2019-20 & Ry HH F

. > h T@
gzgfr & U9 FH-ARY TSN A @ wor
[

12
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(b) XY & Co. a partnership firm has paid

interest @15%p.a. amounting to < 90,000
and remuneration of ¥ 4,80,000 to its
partners during the previous year
2018-19. The book profits of the firm have
been computed at < .5,00,000. Calculate the
interest and remuneration allowable
u/s 40b. ; 4

UFdo diso UUE FXH] U dArsiard BH H
15% Hi@y & T 9 3 90,000 X 480,000
3 309 ot § fed af 2018-19 F o19d
SICE EUICA IR G S 1 B 72 2 S e -1
% 5,00,000 @I & TOET B R B
u/s 408 & =TT g =T T da= i
TOTHT BT | |

Certain expenses are allowed as a
deduction only when they have been
actually paid irrespective of the method of
accounting followed by the assessee. In this

regard discuss the provisions of section 43B
of the Income Tax Act. 3

13 P.T.O.
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D FAN whepa BT E s i A
ammfama%mvwﬁﬂ%maﬁf!
Ferg H| ?
OR
HECT

The following is the Profit and Loss Account of ‘
Ashok for the year ended 31.3.2019. Compute |
his taxable income from business for that year :

| 11

St AR T 3AMH H T B
a¥ 31.3.2019 =1 B 39 g9 G @R ST
FT AR WY & ITOTAT BT

4 | | 3

Opening stock  15,00,000 Sales 2,00,00,000 |

Purchases 1,75,20,000 Closing 27,00,000
Fg stock

14




Wages

Rent
feRTa
Repairs of car

FT B qFTHA

Medical
expenses
R @S
Audit fee
SFHET YT
Depreciation
of car

FIT H OB
(e =)

_.__.

7004

20,00,000  Gift from - 1,00,000
father
fer &
3JUBTT

70,000 Sale of car 1,70,000

FHIT BT &pa
30,000 Income-tax 30,000
refund
SMIHT  aTIdl
30,000
1,00,000
30,000

15 P.T.O.
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Advance 1,20,000
Income-tax

paid

SIPEEUUGIG]

ST

Profit for 16,00,000
the year

Iy % T ars

2,30,00,000 2,30,00,000

Following further information is given :
T gEArd M 9 @

(1) Ashok carries on his business from rented
premises half of which is used as his
residence. |
LM ST9 TG B o foprd & T 'Ry
AT B ST g8 79T ST H IUANT HIET ©

(ii) Ashok bought a car during the year for

< 2,00,000. He charged 15% depreciation on
the value of car. The value of the block on
1.4.2018 was < 4,00,000. One of the cars in

the block was sold during the year for

< 1,70,000. The cars are used 75% for
business and 25% for personal purposes.

16
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AfF X 39 af B AT Z 2,00,000 § TH
W@ﬂmaﬁrw%m%zﬁnﬁﬁaﬁﬁ
cqfar | Reis 1.4.2018 & =D H AT
3 4,00,000 an‘a“oaﬁmeﬂmrﬁﬁﬁqaa
%1,70,000&%M|wwm 75%
| AT Ug 25% eHteRrTa Biar 4|

(ili) Medical expenses Were incurred during

sickness of Ashok for his treatment.

HE 9 9 3 AR e @ A
T | |

(iv) Wages include ¥ 60,000 on account of driver.

sEeR @ Horgdl % 60,000 FARET T |

4. (a) Manish sold gold ornaments on 7.6.2018
for a sum of ¥ 20,00,000. These were gifted
to him by his father who purchased them
in 1998 for ¥ 3,00,000. The fair market
value of the gold as on 1.4.2001 was
¥ 5,00,000. His father gifted the gold
ornaments to Manish on 24.4.2018. He
spent ¥ 10,00,000 till 31.7.2019 (the due
date for filing of the return) on construction

17 P.T.O.
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| "
of a housc property and deposited

37.00,0000n31 72019 under capital gain
’ r sum of Z 2,50,000

own any other
ain chargeable
- 2019-20.

scheme and a furthe
on 31.8.2019. He does not
house. Compute the capital g
‘to tax for the assessment year

(CII - 2001-02: 100; 2018-19 : 280) i

a5 X s 7.6.2018 & < 20,00,000 q
ot omqwer =, e S e T
1998 & % 3,00,000 F @dET o AT ITEN
& ooty @ 7| Rl 1.4.2001 1 @Ol B
aretges ST AT X 5,00,000 e | ITh
fgar 5 f&dis 24.4.2018 =0 O STHTT
9 A SweR # R oemi e ¥ R
31.7.2019 (Resi wxa &1 Fyaifia ffy) oen

W fmtr § ¥ 10,00,000 iR i

31.7.2019 = % 7,00,000 s &9 ot

? AR e FY ofix ¥ 2,50,000 g=:

e 31.8.2019 & IHH emm 396 9T

;Tg ;rzl)‘s‘fgwﬁ T 6t B fyairor o
20 % [’ Gl @rey o

TOTHT lfS | %q e

(CII - 2001-02 : 100;2018-19 . 280)
18
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Enumerate any four cases where the cost
of acquisition will be the cost to the previous
owner for the purpose of computing capital
gain. ' | 4

iﬁﬁﬁﬁwaﬂm%aﬁwﬁaﬁs‘w
IO HHAR TS el AMMIBY FHAT Td
& Hiferhl &1 &F B | |

~ OR

STerdT

Gurusaran sold a residential house on
28.6.2018 for ¥ 30,00,000. The stamp duty
value of the house is 3 34,00,000. He had
purchased this house on 1.10.2005 for
¥ 5.20,000 and had spent ¥ 2,70,000 on
improvement of the house during the year
2006-07. He purchased a new house on
21.10.2018 for X 8,50,000. This house was

also sold by him on 16.7.2019 f{for.

< 10,00,000. He purchased another house
on 21.11.2019 for X 8,00,000. Compute the

capital gains for the assessment year
2019-20 and 2020-21. 9

(CII - 2005-06 : 117; 2006-07 : 122;

2018-19: 280)

19 P.T.O.
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TTHeReT 3 ¥ 30,00,000 # & 28.6.2018
F aTERd wx R fear B X = T8
3 34,00,000 areper @ T I@A @ HAA
3 5,20,000 & i 1.10.2005 1 ST &
sk ad 2006-07 & T 2,70,000 €Y H
T e & @ e | I € 8,50,000
F i 21.10.2018 FH 74T HX @IET AR
3@ Wt R 16.7.2019 = ¥ 10,00,000 &
9 &= | 39 feip 21.11.2019 & < 8,00,000
q g 999 B9 fRar ad 2019-20 S}
2020-21 frgiver af & @ goirma @rw @6t
T ST |
(CII- 2005-06 : 117; 2006-07 : 122; 2018-
19 : 280)
- (b) Enumerate four assets whose cost of

acquisition is taken as nil while computing
capital gains. 2

i@ﬁwmwaﬁwmﬁwwm
SIRIEE I I e — .
TAT Sy | I B8 T gt

20
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(a) Mr. Rohit Seth (66 years old), resident in
India gives the details of his incomes and
investments during the previous year
2018-19 as follows : -

Salary (computed) : < 3 ,00,000,

aa= (s 9TgAR) ¢ X 3,00,000
Loss from House Property: 3 2,15,000,

o= geaRT & geae ¢ < 2,15,000
Long-term capital gains: % 3,00,000 and

Income from other sources (1nclud1ng
savings bank interest of I 40,000) :
R 3,15,000.

areﬂaqaf%r%rﬁﬂmwfsooooo AR
s gat @ e (% 40,000 sed X AT
gfed) : ¥ 3,15,000

He invested % 75,000 in notified mutual
funds (equity linked savings scheme),
¥ 30,000 in Sukanya Samridhi account

scheme, T 35,000 in debentures of an
infrastructure company.

21 P.T.O.
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-

He paid a premium of ¥ 25,000 for his LIC
policy on 31.3.2019 (sum assured
X 2,00,000 purchased in 2017-18) and
X 18,000 LIC premium for a policy for his
wife on 05.04.2019 (sum assured

< 1,75,000 purchased in 2017-18).

s 75,000 AR ger wue (ks
FUE F9d o) I 30,000 gEAT AgfE
Ao eI % 35,000 SSRREaEY BT B
fedmert ¥ RiftrERT e | E R 31.3.2019
® T 25,000 tho Mo o wifge (ad
2017-18 5§ ¥ 2,00,000 TH U9gE 3 NE)
AT X 18,000 iftrrT =11 05.04.2019 =y

(% 1,75,000 o9 ugars 2017-18 # g i
) g R

Compute his taxable income & tax liability

for the assessment year 2019-20.

8

T 201920 & Ry e T wd e
AT i o1 IS |

22
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(b) Explain the provision of Section 80D

regarding medical insurance.

3
Fipaia ™ =1 Qe amr 80 2 wrga=
P STIT TSy |

OR

) aérﬁr

(a) Explain the rebate of tax available under

section 87A. 3

g1 87 T H ST IUTe ek & B H
feraTer &Y

(b) Explain the provisions related to set off of
losses under the head house property,
business and profession and income from

other sources with respect to inter head

adjustments. (Section 71) 3

g T G0N & ST BI-al bl Tere
F¥A b Uifdel ol fOaRer Y, oaarg od

T Gral I ST o OHIEST ol GHTE S |
(T 71) |

23 P.1.0).
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(c) Explain the judgement of the Supreme Court
case Philip John Plasket T%lorflas Vs .CIT
(1963) and the income tax principle deriveqd

from it. 5

B B frar=al B @A g GHH FIE P
39 R S wbe 99T vs Ulo 3§o
o (1963) & iy & ST T |

2
! 8400
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(2) 7005

(@)  Voltas has been manufacturing and marketing Air
conditioners for a long time in India. Recently the company
entered into Joint venture collaboration with a well known
British multinational corporation. Among the major
objectives of the joint venture included technology

up gradation and productivity improvement. The company

was currently estimated to be not only highly

over-manned, but inefficiencies of various kinds have also
been noticed.. More than 2000 employees of the éompany_
are unionized and most of the uniq'n leaders appear to
be against the introduction of any change in the
technology. As a General Manager, would you suggest
Human Resource Planning at this stage to deal with the

problems ? What steps should be initiated to ensure the

success of the joint venture ? | 8

(b))  Planning is the meaningless without control and control

is aimless without planning. Explain. 7

(31) dioerd o §99 W R § TR HERER & feior
3R foque #X w1 7| TS | H FEA A TH A6S
gufifaa fafew sgusdta f7m & @e ggF o™
Fed # AW A W SuW % W Seevdl
# Jrenfiert # A 3R SEREHA H GUR wWiHA
%l_mﬁﬁaﬁwﬁﬁ?aﬁamﬁmnﬁa@ﬁ




()

()

(=)

(@)

(b)

1 ITTHA T ot afees fafu=r g #Y Aemared
H ot @ T an ) wEE & 2000 ¥ At wEER
g ¥ oin @u & sifermie Y drenfrt o faelt
W e YT * faems ¥ wemEuE ¥
w9 H, F1 o9 FHEST ¥ e & faw 3w =R
R H{ES HHIYA ASH 1 GFE o 2 GgE 3TH
® gwHaa gAY w0 & fau @ weq e
S =fen ?

femo & fom freiem frds § ol frdem &
fomr freson @ed %1 smen wifsm

Or/AgaAT
Discuss -various techniques of control, as may be used

in an industrial enterprise. 7

SMENfTeh Se™ H SUERT HI W G areft FEs
+1 fafs= st =t foa=m wifae)

““Management is the art of muddling through the
situations.” Comment upon this statement while discussing

the features of contingency approach. 8

““Management is the effective utilization of human and
material resources to achieve the enterprise’s objectives.”

Comment. . 7

P.TO.




_ (4) -

(a7) ‘e, wammammﬁw
" mmﬁﬁmﬁwﬁm
U 3§ o W feol Hise

()“m%sﬁ@ﬁwﬁa‘mwﬁﬁw
aﬂxaﬁﬁmm@ﬂwﬁm%'"

SIS |
Or/AIAT

(@) “‘Each of the managerial functions is an exercise In

coordination.” Comment on this statement. 8

()  ‘“‘Managerial environment in future is going to be more
challenging, requiring high degree of professionalization
from managers.” Comment. 7
(31) "% YeuRE & g § U sy g1
™ Fgd W feoui i |
ufaen § yevEr e st el @R
AT ¥, 390 ATy ¥ seawm ¥ AT
li
F STEEERM ¥ feood i

Write short notes on any two

7.5%2
(@) TOWS Analysis

(b)) BCG Matrix

(¢)  Strategic Planning,



(31) TOows fagersm

(¥) BCG Afeay
(¥) rHifas A
Or/Agar
(@)  What are the features of Decision Support System ?
Differentiate between Decision Support System and
Management Information System. 8
(6) **No enterprise can achieve its objectives without

systematic planning.” Do you'_agree with this statement ?

Also discuss limitations of planning. 7

(31) ol wmeda gomelt =) =0 fowad § 2 folg

(%)

(a)

(b)

AL YOIl 9o WEY YA yonett ¥ ofaw warsy |
“aﬁé%ﬂmwﬁﬁmﬁﬁm%ﬁmaﬁ@?ﬁ
F U TE F R 1 T A9 T HAT
Herd © ? AN w st W o w=t i

““‘Delegation provides the means whereby a manager

multiplies himself.” Comment. 8
Write short notes on :

(1) Line & Staff Organisation 4
(2) Matrix Organisation. 3

P.T.O.
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(a)‘.w_ﬂw.mm%ﬁ@ﬁw

= @ gaf ww ¥ feorlt wif

@) e W dfew feoot fafed

(@)

®)

1) e IR wWE Eret

@ wfeem Fmel
Or/ATddl

What problems are created by informal groups for the

organisation ? How should management deal with such
groups ? | 8
Write short notes on :

(1) Matrix Organisation _ 4

) Network Structure. | 3

() 9161 & fau sHm=ie 998 g/ @ g9end

Ie1 w1 e § 793%@@@@%@%@
ofeT 72

(a)ﬁqmufwﬁmﬁf?rﬁm

(1) ¥ dme

(2) Aeaeh |T=AT|

Write short notes on any three :

3%5

(a) Informal Communication

- (b) Managerial Grid

(¢) Critical Path Methog

(d) Return on Investment,
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(7) 7005

(3) fraw w wfawe |

(@ “‘Leaders are born and not made.” Comment. 8

(b) Distinguish between Theory X and Theory Y of

motivation. 7
(1) 9@ Y1 B ® A A S %ﬂ?ﬂﬁﬁﬁm
() aﬁrﬁw%mxwﬁ@a?ﬁ ¥ HIfST |
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( 2 ) 7006

1. (a) Explaih the role of marketing as an instrument of economic
_deve]opment in a developing country like India. 8

(b)  “Marketing mix framework of 4 P’s is applicable to tangible
products only and not to sewiqes.” Justify the statemen

by explaining the .marketing mix for services with a suitable.

example i

(o7) YRa S fawmee 2w # onfdw faww @
aed & ®9 # fauom &t yfisr e it

(@) 4 ps F AR fagm @ dee gd o s
wmm%a%ﬁmaﬁmn”mml'

i

& o Yst B fau favom fasor w9 sared
FW T IH FHYT W TH ey

Or/3AGaT

(@)

Why does a marketing manager need to understand .i
marketing environment 9 Explain the importance of th
demographic and economic environment in taking prudent

strategic marketing decisions. 8



Fy

2

( 3 ) 7006

(b)  Explain the evolution of the marketing concept giving

examples. | 7

(a)mﬁﬁnmﬁmﬁmﬁﬁmmﬁﬁﬂ
qEuE F oTavImal & €2 faawel wHidE
fymo fofg @ # STEifeRE SN e
SEERY ® e EEEd |

(3) fauvm srERon & fowE H e SqR
R T =R

(@) Explain the significance of pfoduct posiﬁoning. Discuss
any five bases of product positioning for different brands

of cars in India : 8

(b) What is consumer buying behaviour ? Briefly explain the
buying decision process of an Indian middle class family
for the purchase of an apartment in the NCR region. 7

(1) 3@ & feafd & e # TR HifSd | 9Ra
A w1 & fafy= soel & fou s frufd
% o<l ua s &t fad=mm wifsa

(9) IO FA AAER ¥ 7 TLELAN. & H
T AU I TR & fAu U wesweiE
yadia ufER w1 el fa wfem w st
R Hifod |

RT.O
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O/l
nderstand by psychographic and |

tation 7 Suggest suitable bases

(@) What do you u
behavioural market segmen

to segment the market for the folloyving products giving

reasons

() Business Magazine

(i) Luxury Cars |
gl

branding ? Discuss its

(i) Formal men’s'.wear
(b)) What do you understand by

significance. What are the desirable qualities of a good
| {

? brand ? | | :
| (1) TR SR SRR aeR faers 3
mwﬂﬁm%waﬁfgﬁmﬁ@ﬁr
Wﬁ%mwﬁmmgm
I SER gIRd
() AR afE
(i) WEM R %
(i) FroafeE e w1 g |
(@) difET A oM w R §) A
faaremn wifsra | @wm%wﬂm_
F ¥?




(a)

(b)

(1)

(=)

(5 ) 7006

“The most imp: rtant factor in successful new product |
development is matching the product and market needs.”
Discuss the statement with respect to the process of

developing a new product. | 8
What is pricing ? Explain the following giving examples :
() Diﬂ“erenﬁal Pricing and Product Line Pricing

(ii) Psychological Pricing and Competitive Pricing

(7iif) Cash discéunt andﬂ Trade discount 7
g T S e  wE e w
IR 3R a9R H SE w1 fAam g1 T

T SR W fawfad F@ F A %
Fay H 3@ wud & foeew i

o e 1 %2 Frefafaa # See S e
Hifor

() Tadew goa fauRor o SAR @R T
futor

Gy ARt e faefor oiR wfeemedt qem

Frfeon

(iif) TG T I MR T
P.TO.
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( 6 ) _ 7006
Or/3qat
(@)  Suggest appropriate marketing sqatcgies for each stage of

the product life cycle of a product. B

(b)  Discuss various factors that a consumer goods marketing

~ firm needs to consider while setting a price. 7
(37) freht Sae & SR Sed W% H Te RO
® fou Suge faoom At w1 gema iR
(/) 39 fafi= =Rl &1 == i < T Su9e
auE fauom wd w1 ea iR w@ w5
farR ®W #t TEvIE@ o T

4. (@) Briefly expl.ain the various elements of promotion mix. A
start-up wants to .introduce its detergent powder in the
market, giving reasons suggest an appropriate promotion

(b)  “Rural markets are expanding very fast.”

Discuss the marketing mix of rural markets in light of the

above statement. » 7

(1) sifgfs fasmn & fafumr el #t <fara sre
HITA | Th -3 ﬂﬁ.%zﬁ"aqmg-{aﬁ
wﬁﬁmmm%,wéﬁgq@
faa sifvgfs s =1 qm ARy



(7)) 7006

(@) ‘“‘urfi SR Wgd I @ BE ® %.-I"'

(a)

®)

U HUF B oTEls W U ae % fauH
fagm = fog=m =i

Or/AIaT

Discuss the role of personal selling in promoting products.
What advantages personal selling offers over
advertising ? | -8
Explain the followihg giving examples :

) Dgpartmehtal stores and | discount stores

(i) Malil order retailing and Vending machine 7

(%) T N T A F fe S

W@lﬁﬁﬂﬁﬁwmﬁwﬁﬁmﬁ
N EES T |
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Write short notes on any three : | 3x5=15
() Ethical practices in marketing

(i) Elements of marketing logistics .

(ii)) Relationship marketing (giving _exa-mples)

(v) Classification of consumer products.

Frefafom & & fdl @ W wfa feorfrat
fafen | n

() Wﬁ%w

Gy Toumm dfeea & d@
(i), TS fIOR (R W gw)
() TN SR w1 R
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. (@) How can you incorporate risk in capital budgeting

decisions ? 4
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(2 ) 7007

A company is considering computerization of its
inventory and billing procedures at a cost of ¥ 2,00,000,
Installation charges are T 50,000. These outlays will be
depreciated on a straight-line basis to zero book value
which will also be its salvage value at the end of its
life of 5 years. The new system will require two
Computer specialists with annual salaries of ¥ 40,000
per person. It is also estimated that annual maintenance
expenses of ¥ 12,000 will. have to be incurred. The new
system will. lead to reduced production delays, thus

saving ¥ 20,000 annually. It will also help to avoid stock

~out cost of T 25,000 per year. Timely billing will increase

inflow by ¥ 8,000 per year. Six clerical empldyees, with

_annual salaries of ¥ 20,000 each, 'Will also become
redundant. The ¢ompany’s tax rate is 30% and required
rate of return is 12%. Evaluate the project.

What will be your decision if salvage value is taken

as ¥ 30,000 for purpose of calculating depreciation, even

though the machine will be worfhless in terms of resale

value after 5 years ? 11

(1) @ Y asre Fofdl § Sifem =) S Wi

F HEA T 2

(F) TH FPA T 2,00,000 F AR W S g iR

fafern wfastt & Freptem w fer W




(b)

@ ¥ N YEd T 50,000 ¥ ﬁﬁﬁﬁ?ﬂﬁm

- W U gt [ & AHR W
i&?gm@ﬁsaﬁﬁsﬁm%
aiaﬁmﬁwrﬂrtﬁx%ﬂﬁma‘ém
ﬁﬁwﬁ@rﬂsﬁﬁ,uopmuﬁwﬁﬁaﬁﬁ
a4 wfeq omavaw@ eet =@ ot aqgm‘%
fp atis TE-TEE T 2 12,000 T@E FA AL
%yt @ s § e enaht ford wfien
S 7 20,000 B TR WA @ ¥ 25,000 VAR
e @@ ¥ wed # off wee faer - v
mﬁﬁﬂﬁgﬁraﬁ?s,oooaﬁ?ﬂ%@?ﬁu{
20,000 TfH ¥ T T B: fafwEw wHEER
F frds B SRR HEA R F B I 30%
¥ oiR TEm W 12% ¥ UfESE w e
Fifsw | smee ol F=n g A e g
e % Saevd & fau 2 30,000 fern Smn
¥ TEifE 5 U & A WA qAfEHd SiTd
# ogER =g | S

Or/(319A)
Critically evaluate the payback method for evaluation

of long term projects. 4

Able Electronics is considering a proposal to replace

a machine which was bought three years ago for
¥ 10,00,000. It has a remaining life of 5 years after which

it will have no salvage value. But if it is sold now,

P.T.O.
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it will realize ¥ 6,00,000. Its maintenance cost is expected
to increase by ¥ 50,000 p.a. from the sixth year of its
installation. A new, more efficient machine is available
* for T 15,00,000. This machine can be sold for ¥ 6,00,000
after completing its life of 5 years. This new machine
will lead to increased productivity, thereby increasing
the revenue by ¥ 1,50,000 p.a. It will also reduce
| operating expenses by I 1.00,000 p.a. The company's
tax rate is 50% and cost of capital is 10%. It uses
straight line method of depreciation. Advise the company

about the replacement.

What will be your decision if the expected salvage value

of the new machine is ¥ 2,00,000 ? I
(%) <o afEemet & geaiwa & ol 3-3
S0 # SeEAeE geasa wifeu |
() @ R W U Wi ® aeey 3

T R TR W@ ¥ oA v
:1o,oo,oooﬁ@ﬂmwmlm§m?ﬂaﬁs

aﬁ%mmwmﬁ%mwﬂﬁ
mlﬂﬁwwﬁﬁmmﬁu,oo,oooﬁm

Wl@m%@aﬁﬁmﬁr@-m
ﬁﬁmﬁfso,oooﬁq&@ﬁﬁatﬁa%l
T 15,00,000 ¥ TH T2 SUREC T —
%lsaﬁ%mﬁamagaﬁrmm;
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T TE HIMHE W T 6,00,000 H WA= S GHa
B W T wei A Sarwa # gfe it el
e # wfr oo 2 1,50,000 F gfE Bft TE
uReem = ot wfq a2 100,000 W HHI
BRI | R SR H-TX 50% ¥ qAT YS Y AT
10% ¥ F% TYeded w Hied Y fafu w5 swEm
FA ¥ AR ® AR § FOA H T
<ifs .
Hﬁﬂ%wﬁ?maﬂf&iﬁmtﬁzzooooo
T @ e folm = dm 2

z (@ What do you understand by Agency problem ? How
can it be resolved ? 4
(b)  Prepare the income statements from the given financial
data for Company A and Company B for the year ended
31st March 2017. Also comment on their financial
position. 11
Particulars Company A | Company B
Variable expenses as % of sales 66.7 i
Interest (in Rupees) 2,00,000 3,00,000
Degree of operating léverage 5 6
_ | ' |
Degree of financial leverage 3 4 ][
|
Income tax rate 035 035 l,

(37) TRA S TEET ¥ Y w uEEd § 2 S9
9 ' fem w1 wwa ® 2

P.T.O. i
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() 37 nﬁ,zowaﬁmaﬁ%ﬁ@mﬁ‘
A waEt B B A M AT oS @ s |
g TR wifsg) s ot feafs @ oo

feuoit  sifsu
7= HA A | HEA g
T e 667 i
=S @ W 2,00,000 - 3,00,000
TR RS # A 5 6
fodta ofwst = : .
TFT =X _ 035 035 |
Or/(374) |
(@)  “A rupee of today is not equal to a rupee of tomorrow.”
Explain. : | 4
(b)  Calculate the overall cost of capital of Sushant Ltd. from
I the information given below using book value weights
’ ? and market value weights : : 11
ke | | - Book Value Market Value
4 ® ®
Equity Shares of ¥ 10 each I4,00,000 -6,40,000
12% Preference Shares of 2 |
100 each 1,00,000 75,000
(Redeemable at par after 10 years)
11% Debentures of T 100 each 2,50,000 225000

(Redeemable at par after 5 years)

Reserves ©1,00,000



(7 ) | 7007
Last year the company paid a dividend of ¥ 2.20 per
share. It is expected to declare a dividend of ¥ 2.42
per share. The company has been maintaining the

growth rate in dividends over the years and is expected

to do so in future. Tax rate is 40%.
(3N) " W TE TN FA H ThH T H TR
T ¥\ =rEn @it
(a)wq\wwaﬂtwwwmw
TR g @ oIl ¥ gaa fa @
ﬁﬁa@mﬁmw

mwaﬁmqw'_

Q) Q)

o W YEE 210 400000 640,000
129 SfoaE 379 T 100 F&E - 1,00,000 75,0'00
(10 98 &K TR W

EIGER)
11% fea=ad T 100 Y&H 2,50,000 225,000

(5 a8 A AT W |

EIREE)



(a)

(®)

? 242 F wwiw fem FEEA AN @ oy,
§ ofg 9 g ¥ O WA A AW ay
Ft wafr ¥ w B O 40% ¥ F

:

Discuss the different approaches to financing of working

capital. 4
From the following information estimated by Swastik Ltg,

for the next year, calculate the working capital requireq

on cash cost basis :

y |
Sales (at gross profit of 20%) -27,00,000 I
Raw material | _6,75,000
Wages 5,40,000
Manufacturing Expenses butstanding
at the end of the year - 60,000
Total. Administrative Expenses ,1,80,000.
Total Selling Expenses 90,000
Desired cash balance , 1,00,000

Finished goods and raw material are kept in stock to
meet 1 month's requirement. The company gives a credit
of 2 months to its customers and gets a credit of
2 months frqm its suppiiers. Wages are paid with a
time lag of 15 days. All other expenses are paid with

a time lag of 1 month. There is no work in progress.
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The company includes depreciation in its cost of

production. Finished goods are valued at manufacturing
cost. A safety margin of 15% is to be maintained. 11

(m)ﬂﬂ?ﬂﬁ{ﬁ?%ﬁﬁiﬂw%ﬁfwaﬂﬁﬁ

faa=T wifST| |

@) s T @ fou w@ifes A gw S
£ SEEH ¥, TRG TR & SAUR W AETTF
s gt FT MO RIS

2
fawra 0% & THA I ) 27,00,000
Foa A | 675000
el | 540000
a8 & @ # feh =™ 60,000
wA TOEMAE TE | 1,80,000
7@ fawa @ . 90,000
afem T W 100,000

F YTH 1 WE F A0 & @d S
'%'.ﬁ,mwﬁ%lmﬁm
- # qewmm Wit 1 ¥R W fafi
A W e BT ¥ 15% HT RN HifS
T T R

PT.O.
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Or(Fea)
(@) What are the different motives of holding cash ? 4

() A company manufactures 1,00,000 units of a product
annually from a raw material which is purchased at
T 60 per kg. It incurs a handling cost of ¥ 200. and |
freight of T 550 per order. The inventory carrying cost
of the raw material is & 0.75 per kg per month. In |
addition, cost of ‘working c.apital finance on the
investment in inventory is ¥ 6 per kg per annum. One
kg of the raw material can produce 2.5 units of the

product. Calculéte:

(1) E_coﬁomic Order Quantity

(i) Frequency of orderin;g

(iii) If the company wants to place orders on quarterly

basis, what percentage of discount on the price

of raw material should be negotiated ? 1 : 3

() T T @ e SRw @ E 2
(§) TF FEA F A Y WA 1,00,000 JAE AR
T ¥ R 7 60 Wi frel & fegm @ @l
S ¥ TEaE tvefn wima ¢ 200 q WA AW
YIeT 7 550 1 Fed Al GEl Hl T@E ARM
7075 gfa frel wioere ¥ s9e etmen gigl
# fRy | FEwMa dSt fow w1 @@ 2 6
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wﬁ%ﬁaﬁm%lwfﬁmwm.
H 2.5 THEA FH IEZT L TqHA T

MO HifSIT

() onfYe SIRYT A

(i) 3MRY |F HI g
(iii)ﬁﬁmﬁﬁﬁanwwmimﬁmﬁ

T A w= AE W wma W fEe gfaea

Y W I@Ed H WET AT ?
(a) Whélt are the different approaches to calculation of cost
of equity ? ‘o 4
() A company needs to raise ¥ 10,00,000 for a new project
which is expected to yield an annual EBIT of ¥ '1,60,000.
It is considering a possibility of issuing equity shares
along with some. amount of debt. It has an option of
raising a debt of ¥ 1,00,000, ¥ 4,00,000 or ¥ 6,00,000.

Debt is available to the company at the rates indicated

below :

Upto ¥ 1,00,000 : | x 8%
Over T 1,00,000 and Upto ¥ 5,00,000  : 12%
Over T 5,00,000 4 18%

Current market price of its equity share is ¥ 25 which
is expected to drop to ¥ 20 if funds .a.re borrowed in
excess of T 5,00,000. Tax rate for the company is 50%.
Suggest the best financing alternative. Also calculate
financial break even point for all the three options. 11

P.T.O.
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b)

e ? -
@wﬁﬁ@#qﬁﬁﬁmﬁmzwmmo
e I TEW § fygd e EBIT T 1,60,000
Wﬁﬂa%u%@ﬂrﬁ%ma
éﬁaﬁﬁuﬁaﬁmﬂmﬁémﬂmﬁm
<< T8 ¥ T T 1,00,000, T 4,00,000 3T T 6,00,000
wu W W TH fawed 3 @ W
w® HEA @ RO STaH ®

Z 1,00,000 T 8%
z 100,000 | 3fees A0 X 5,00,000 G 12%
7 500000 9 3fEH : 18%

@ $ed YR W HEEH SR HeE 3 25 ©

ﬁﬁ?s,oo,omﬁmﬁtﬁlmmﬁﬁ”
Wz 0 % T F IR ¥ HEE H W
F T 50% 1 T e fawam faewed gamed|

a9 & i faked & fo foda wger-=R o9

(Tw-aemw fog) w o o S
| Or/(374aA)
What behavioral justification is given by the MM

approach to prove their hypothesis about the capital |
structure decision ? 4

Company X and Company Y are in the same risk class

and identical in all respects except that Y uses debt
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of ¥ 2,00,000 carrying an interest of 12%, whereas X
is an all equity firm. Both companies earn a return of

20% on their assets of I 4,50,000.

(i) Calculate the value of both the companies and
their overall cost of capital under the net income

approach taking cost of equity as 15%.

(i) Calculate value of both the companies and equity

capitalization rate using NOI approach taking

overall cost of capital as 15%.

(iif) Compare the results and comment on the

differences. 11

() 35t wro fofe & R H SR wiweT @
fag & & fau MM SITm g |1 SERIE
e fear s ® 2

(®) Foet x 3R ot Y T @ Sifem ot # €
3R |t Tmel § w9 € foom e fE oy
? 2,00,000 S W ITEAN HE 8, TH W 12%
o faoar ® wefe x e @t e wH
€1 B wEfEr 7 4,50,000 B GEE W 20%
F W FAA T
) 15% & ®9 § e #1 @rE o awl
s o™ ghesmm & ded S wHCE B
ity |

PT.O.
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i) 15% ® T F e @€ A S NOI g
F SN F@ oMl eEeEl ® O 3?11
e folw R H T HIfSa |

(ii) vﬁﬂnfﬁﬁgamaﬁﬁqamﬂﬂ‘ﬁamfzwﬁ
Hifal

What do. you mean by informational content of

i 4
dividend ?

The following information for the current year about
XYZ Ltd. is available to you :

Earnings of the Firm = T 18,00,000
No. of equity shares 3,00,000
Amount of dividend paid X 9,00,000
Return on Investment 22.5%

Cost of Equity 15%

() Calcinl_ate the present price of the share and value
of the firm using Walter's Model.

(i) Is this the optimum payout ratio ? If not, what
is the optimum payout ratio 2 What is the value
of the firm at this payout ratio ?

(fi)) What is the payout ratio at which value of the
firm will be lowest ?

(/v) What should be the Payout ratio if the firm wants
to keep its share price at ¥ 55 9

(v) When, will the firm be indifferent about payment
~ of dividend ? 11



( 15 )

() WY H OIS AWl R ST N stfimgr
LI

() x\'zma}aﬁﬁat’rmq(m)aﬁﬁaﬂm
= et Ives ¥ .

TH O® AN

T 18,00,000
T I = GEwm 3,00000
TH TN &® Al % 9,00,000
[y | ™ 22.5%

d = AW 15%

() TEX H Hed F I FE IR FH
S wme R wH @ g @ T
Fifsm | ' |

(i) T AT TLAH YAH AW & ? AR
A TR YWAH A F R ? T OYTEE,
Fqm § W ow e e ¥ 2

(i) 9& AA @ # & 5w W wd w=
9 I wY Oem 2 |

(v) A BH S Y Hew ¢ 55 TE e
AN YT sad @ @ oeifew 2

() W9 & YT & e § wH wE I
e ?
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on(amﬂT)

of the dividend policy of a
4

(@) Discuss the determinants

* company.
(h)  Relay International belongs to the risk class for which
the appropriate capitalization rate is 10%. It currently

has 1,00,000 equity shares of ¥ 80 each. It is thinking

of declaring 2 dividend of ¥ 4
et income of T 8 lakh

per share at the end

of the year. It is cxpecting an
and an investment proposal re
15 lakh. Show that under MM assumptions, payment
ffect the value of the firm now
11

of dividend does not a

and after the issu€ of new shares.
(a)%mﬁﬁmﬁﬁﬁﬁwﬁaﬁﬁaﬁm
FHITT | o
(a)ﬁamsﬁ@qaﬁﬁaﬁﬁuﬁ%m@
marrgaﬁt‘irrﬁwmatm%%laﬁqﬁﬁ‘sﬂ%
w?so‘a@ 100,000 SRR ¥R ¥ TE
% 3@ H W YW T 4 B GOWRT KOO
F F GE W ¥ FE T 8,00,000 B YE AA
# e W W T IR frRw wE @
%wméﬁémaﬁanam%l fraed
MM TTIAIS & q8d, ST oA .
: , a3
A T ® I TR AR BH & Hd
1 wefad T w@ R

7007 16 b

quiring an investment of |
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froqut : =9 YYA-UF 1 S ST O el e T 9
§ A, ofF @it ST w1 WEAE T ¥ OE
=fea |

All questions are Compulsory.

sty erfed ¥

L (@) Describe business to consumer (B2C) e-business model.

‘What are the advantages and challenges of B2C

model ? 8

(b) Explain the marketing phase of website development.7

P.T.O.
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FIWT 1 Boc Hied  WER SR TR F=m §)
(%) dawrge fawm & fauum =0 () # omey
HifwT |
Or/AIal

(@)  State the needs and limitations of Bricks and Clicks

business model in retail industry. 8

(b)  What are the advantages and disadvantages associated

with outsourcing web designing ? 7

(51) @z e & f e Freme e e w
e 99 FHIST S gy |

(F) szt o9 fesmfm @ 93 weR ol Toam
T 7

(a)  Differentiate between symmetric and asymmetric key

encryption. 8

(b)  What are the objectives of e-commerce security ? 7

() |9 q91 SEAfAa F£51 e & weg oW
Fif |

(9) Mg G & oET ;M E ?
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Briefly explain any three of the following 3 3x5=15
() Data Confidentiality i;
(i) Firewalls |
(iif) Hackers

(iv) 1P Addressing

v) Cryp‘tographic- algorithms.

frefafe o @ Rl A @ Hiyw e I
o = A

OERIRICISS

(i) Thd

) R Tgfam

v) Tremfres T |

(@) What are the kinds of e-money ? When does an anony-

mous e-money become identified e-money ? 7

() What are the advantages and limitations of online

marketing ? 8

(31) 3T F FFRFE ? He Th 3AH 3-H! identified
TR s W ¥ ?

(9) SieTE AT B EER SR W e § 2

P.T.O.
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(@) Discuss the advantages and limitations of e-payment.7

(b))  Explain the advantages of online financial services. §
(1) Egmae & wR ofw dell w1 wi
() aﬁﬂﬁﬂﬁﬁﬁﬂ@mﬁ%aﬁﬁaﬁmaﬁm,

4. (a)  Briefly discuss the wiretapping and integrity threats in

e-commerce. 8

()  Explain the various legal provisions regarding Electronic |

Signature. 1

(a)ﬁ—ﬁqﬁﬁmuﬁﬁﬂaﬁtmma‘u@ﬂﬁ%ﬁﬁ
# gt == HIS |

() Wmm%aﬂﬁﬁfmwﬁmmﬁ
F =TI HIfST

Or/AFAT

(a) Briefly explain the methods used to provide security t0
clients and servers in order to minimise the challenges

faced by e-commerce. 8

()  Briefly discuss the provisions of Authentication of {

electronic records. 7

(37) é—m%qmﬁaqﬁwﬁgﬁ‘rﬁﬁiaﬁmﬁ
& fou mEwi SR T @ gen wa w3 7
ﬁqwmwﬁaﬁaﬂaﬁaﬁﬁMﬁmﬂg
FHIT | |

\
f
.
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() TR fenrdy & wHmieo & U St

ﬁaﬂiﬁﬁﬂ"ll

write short notes on any three : 3x5=15 .
()  E-wallet
(i) NEFT

(i) CELLSPACING and CELLPADDING attributes of table tag
(iv)  Advantages of using frames

(v)  Types (;f Anchors available in HTML |

Prefafes & @ fesd @w w wfera frofort
ﬁﬂf@Q : ' ' |

) 3R

(i)  NEFT

(i) T 3% CELLSPACING T8 CELLPADDING T0T
(v) W H ITAM HEH H AN

(y HTML H 3UaTsY UHd & THR

5 | 4700
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fewtt v yvr-w @1 ww SIS A fedt foret wp ey
ﬁaﬁrq;émmﬂaﬂﬁmmm%’ém
Attempt all questions. All questions carry -equal marks.
Use of simple calculator is allowed. Workings form part
of your answer. ' '
mﬁwﬁ%wa’ﬁwvﬁwﬁ%ﬁmm‘%l
T TR F S e R Tew s
a1 e € -
What is meant by management accounting 2
Discuss its objectives.

L@

(i)

Explain the distinction between cost ¢

ontrol and
Cost reduction.

6

PTO.
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(b)  Attempt the following (working notes should form part

of the answer) :
() Total fixed cost z 12,000; Contribution ¥ 20,000:

Number of units sold 10,000; Variable cost is 60%

of sales. Determine selling pr'ice per unit and alsg
the total profits/loss.
(i) Total fixed cost T 12,000. Actual sales. X 4_8,600;
Margin of safety ¥ 8,000. Determine P/V ratio,
(i) A company which has a margin Qf safety of
% 4 lakhs makes a profit of T 80,000. Its fixed cost

is ¥ 5 lakhs. Find the break-even sales

volume. : _ 9

(=) ¢ e v & S 2 T S

%1 fag=r sifNTl |

(z'f)amﬁﬁmaﬂrmﬁﬁrﬁm

AW aazd | | T

(a) frfafas = & *ifT (¥ T SW F
fee )

() w4 R @rmE 2 12,000; 3WEE T 20,000; |
o=t T IHEA W OGEW 10,000; GRAA
AT Rt 1 60% ¥ W s forsra A
g fa @w/E w1 faio wifew)
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i) /A ferd @A 12,000, arfash ﬁm"t
z 48,000, GL&T W 2 8,0001 PV 9@
fruffi@ wifSra)

iy T F frE wen @ 24 e i
7 80,000 1 TV FHAMH 71 TRl R arm
;5 ar@ & Ggo-wR faswl @en 9w
e | e
Or/(3AFAN)

@ What is meant by margin of safety and angle of

incidence ? Show these on a break-even chart. 6

()) There are two factories under the same ‘management.
It is desired to merge these two factories. The following

information is available :

Factory A | Fac_tdry B
Capacity operation 100% 60%
Sales T 300 lakhs T 120 lakhs
Variable Cost 7 220 lakhs Z 90 lakhs
Fixed Cost. 740 lakhs T 20 lakhs

Calculate :
() The capacity of the merged piant for the purpose
of breaking-even and ‘

g at 175% of the merged
9

(ijy The profit on workin
capacity.

P.TO.
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(W) % @ yawa & oA @ FEn & T A

(@

(b)

s # faem #won afea &) frefafes
AET Juer ¥
FT@EAT A HIEM g

CEn R SR 100% 60%
fa@t 7300 @ T 120 TG
tfEdda @ T 220 @ T 90 TG
foe @ 4 @@ 20 @
o HfET

@ W—w%mﬁmwm@
97 . &L &I
i) faom + T B 75% W B HE T AV

Compared with absorption costing, when wil] variable
costing report lower profits, higher profits and equal
profits. Explain with examples. 5
The following are the estimated sales of X Company
for eight months ending 30-10-2018 :

April 2018 — 12,000 units

May 2018 - 13,000 units

June 2018 - 9,000 units

July 2018 | = 8,000 units

August 2018 — 10,000 units
September 2018 — 12,000 units
October 2018 - 14,000 units

November 2018 - 12,000 units
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As a matter of policy, the company maintains the clbsmg

balance of ﬁmshed goods and raw materials as
follows :

(1) Finished goods—closing stock of a month will be

50% of the estimated sales for the riext months,

(i) Raw material—closing stock of a month will be

equal to estimated consumption for the next month.
Each unit of production consumes 2 kg of raw material

costing ¥ 6 per kg. Prepare the following budgets for
the half year ending 30-09-2018 :

() Production budget (month-wise in units).

(i) Raw material purchase budget (month-wise in units

and cost). 10

(37) ERIoY A & WY qE ¥, we qRady

(¥)

AN HH Y, I AW IR gUF AN =
Wﬁﬁ?mﬂﬁamﬁml

30-10-2018 1 THE BW A B WEAL @ forw
X FEH ® arj:rrﬁa fomt frafafen ¥ .
30 2018 12,000 15l

¢ 2018 - = 13,000 313l

A 2018 - = 9,000 FeHTEAl

IS 2018 — 8,000 Tl
ST 2018 — 10,000 FehTEal
faawar 2018 — 12,000 FoTEal
R 2018 — 14,000 THE
FEE 2018 — 12,000 ThE

P.TO.
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(@ “Flexible budgets are more realistic and useful than fixed

budgets.” Do you- agree 2 Explain. 5
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A ¢ v i
co. can produce 4,000 units of a product at 100%

capacity. The following information is available from its

records

April May
Units produced 2.800 3,600

4 | L4
Power 1,800 2,000
Repairs and maintenance ) 500 560
Indirect labour 700 900
Consumable stores 1,400 1,800
Inspector 200 240
Depreciation = 1,400 1,400
Salaries 1,000 1,000

Direct material cost per unit is ¥ 1 and direct wages
per hour is s 4. Rate of production per hour is 10 units.
prepare the flexible budget for production at 100%, 80%

and 60% capacity levels showing variable; fixed and

semi-vari able items. 10

“ﬁmﬁuﬁm@ﬁwuwﬁaﬁ
ﬁﬂsﬂﬁnﬁﬁ%%l"wmmﬂ%?w@

F1fAT |

PTO.
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(F) TF FH 100% &HA W TH T H 4,000

¥ 1 Sed Stes ©

e w
THIEA H S fear 2800 3,600

4 4
i 1,800 2,000
a3k @-@E 500 560 )
TTAYH  HH . . 500
Sqdg  iER 1,400 1,800
Hax | " 200 240
TeTE 1400 1,400
CLE| | © 10000 1,000

qd T TEE W drE 1 ¥ sl ufy
ﬁamaqﬁqﬁ?ct%luﬁwﬁamﬁ
10 THEEX T 100%, 80% TAT 60% AT W
T S # faw wen awe e, feer
Qﬁa&f—vﬁaﬁuqﬁaﬁﬁ:@ﬁ@w.aﬁﬁm
3. (@ Briefly describe the following Control Ratios - 5
()  Activity Ratio |

-(i:) Capacity Ratio

(#i) Efficiency Ratio

() Calendar Ratio, _
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() From the following information about sales,

calculate : | 10
(1) Total Sales Vﬁlue Variance
(i) Sales Price Variance
(iif) Sales Volume Variance
(iv) Sales Mix Variance
) Sﬁles Quantity Variance
Standard . Actual

Units Rate Units Rate

q L
Product A 5000 5 6000 - 6
Product B 4000 6 5000 5
Product C 3000 7 4000 8

(%) Fretfafem Frmo oadl w1 W@9 # aofd
IV | . :
() Tfafafy  srgama
() &HA A
i) &A1 3T
(iv) HAS UM |

P.TO.
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(A) fowt & at & e Sl A o #ife

~ costing and budgetary control.

" ®a fawt gex fi=a
(i fa®t s fy=a
(117) fawt uftgo fy=a
(iv) fawt fagu fy=a
(v) fast g fy=an
A& aredfaeh

gegal 9 A
3 3
SHI A 5000 5 - 6000 6
3T B 4000 6 5000 5
34K C 3000 7 4000 8
Or(3Fa)
What is standard costing ? Distinguish between standard
5

Standard hours for producing two products A and B
are 15 hours and 20 hours per unit respectively. Both
products require identical type of labour and the
standard wage rate is ¥ 5 per hour. In a year 10,000
units of A and 15,000 units of B were produced. The
total labour hours actually worked were 4,50,500 and
actual wage bill came to ¥ 23,00,000. This included 12,000
hours paid for at ¥ 7 per hour and 9,400 hours paid
for @ X 7.50 per hour, the balance having been paid

at ¥ 5 per hour. Compute Labour Cost Variance, Labour

Rate Variance and Labour Efficiency Variance. 5
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(1) 012 I
From the following information, compute Fixed Overhead |
Cost variance, Expenditure Variance and Volume Variance,
Normal capacity is 5000 hours, Budgeted fixed overhead
rate is ¥ 10 per standard hour. Actual level of capacity

utlllzed is 4,400 standard hours. Actual fixed overheads

X 52,000. Also, verify your result, 5

WWW%’WWHWW
ﬁamﬁmwl

i"t‘c\?:qu‘lAai’R B® WA & fau urs w2
AN 15 ¥ AR 20 Wy v ¥ W s
F TAH YER F AW W Ewma ad §
aﬁt#ﬁmﬁqﬁmzsm’am%l@aﬁ
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Hé4sosooéaﬂxamﬁ$w@ﬁansooooo
AA M TEH 27 W W B feE ¥ 12,000
q'éaﬂg'm'—lai’nwooaémﬁrmﬁﬂso
9fd =2 0 9w OYEE 75 v o @ fegs
| foa T o s o e sm e fiem
A aHd e Y wfoomn s
ﬁmﬁ@amﬂﬁmﬁaﬁmﬁﬂmﬁﬁm
Eqﬁmaﬁamwmwfmﬁmml
WA &0l 5,000 92 €, wr@ S1qfiad! Sufemm
210 90 HAE W ¥ | S w9 Sl e
F1 ATEEaE W 4,400 AMF U2 ¥ areafas

saiterdl Suftemm ¢ 52000 1 o wfomy st
Tenfyd sifeng
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The following particulars are extracted from the records of a

company :
Particulars Product A Product B
Sales (per unit) T 100 T 120
Consumption of material 2 kg 3 kg
Material Cost X 10 315
Direct wage cost | ?. 15 X 10
Direct expenses X5 T 6
Machine hours used 3 Hours 2 Hours
Overhead expenses :
Fixed X 5 R 10
Variable 315 3 20

Direct wage rate per hour is ¥ 5.

(@) Comment on the profitability of each product (Both use

the same raw material) when :

() Total sales potential in units is limited

(i) Total sales potential in value is limited

(iif) Raw material is in short supply; and

(iv) Production ¢apacity (in terms of machine hours) -

is the limiting factor.

()  Assuming raw material as the key-factor, availability of

which is 10,000 kg and maximum sales potential of each

product being 3,500 units, find the product mix which

will yield the maximum profit.

15
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fqsor Y Fa I S SATHTT AN W Fwm
 op(3AEAN) o

What do you mean by relevant costs and irrelevant

(@)

cost in decision-making ? Give examples. 5
(b)) X Ltd. annually manufactures 10,000 units of a product
at a cost of I 4 per unit and sells these in the home
market at a selling price of ¥ 4.25 per unit. In the next
year, there is fall in demand in home market which can
absorb 10,000 units only at price of ¥ 3.72 per unit.

The total cost of 10,000 units is as follows :

Materials T 15,000
.Wages . T 11,000
Fixed overhead T 8,000
Variable overhead % 6,000

The foreign market is explored and it is found that this
market can consume 20,000 units of the product at @

price of ¥ 3.55 per unit. (Assume that the company

has sufficient plant capacity to produce additional

output). It is also discovered that fixed overheads will
increase by 10% for additional output above initial

output of 10,000 units. Is it worthwhile to try to caPt’
0

the foreign market ? Give reasons.
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(&) Frof # wreif A ol s @

(F)
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LU Z 11,000
fer suftem 28,000

qfadda e 6,000

fdell SR F A @ T SR FE W
7 R O SN W FEE T 3.55 i HA
W IR H 20,000 THEE F ST HLFHA
$1 (W if fm et @ e sifafte Sacd
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5. . Prepare a cash budget for four months ending op 34

December, 2018 on the basis of the following informgy,

.(1) Income and expenditure forecasts :

Months Sales | Purchases | Wages | Other EXpe;s:g
4 4 = 4
July 60,000 | 40,000 8,000 9,000 ]
Augﬁst | 90,000 60,000 10,500 8,850
September | 75,000 50,000 17,500 S,OOQ
October_ . 90,000 60,000 17,100 7850
November | 1,05000| 70,000 | 12,000 7,300
‘December | 120,000 80000 | 12,000 7,050

(2) Cash balance on 1st September T 47,000.

() It is expected that 50% of the sales will be in &%

and 25% of the purchases will be made on credi

(@) 75% of the credit sales is realized one month after 1

sales, 20% of the credit sales is realized two MmO

after the sales and the balance is bad debt.



©)

©)

@)

©
(10)

(11)

(12) |

v ) 7012

70% of the credit purchases is paid after one month

and remaining 30% is paid after two months of purchase.
Wages are paid on 3rd day of every month.
Other expenses include a depreciation of ¥ 2,000 p.m.

Commission @ 5% on the total sales payable after one

month is not included in the other expenses.

Machinery is purchased @ T 60,000 and payment is

‘to be made in September.

A dividend on investments of ¥ 10,250 to be received

in November.

The company has 10% Debentures of ¥ 1,00,000. The
interest is payable quarterly in March; June, Seﬁtember

and .December_.

In case of deficit in cash in any month, the company
can arrange an overdraft from the bank for that month

and such overdraft is to be repaid as early as possible

- out of the surplus cash of the subsequent month. Ignore

the interest on the overdraft. 15

P.TO.
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frafafied gaa & MR W31 %W,zoisﬁ
mﬁﬁaﬁaﬂuﬁﬁmﬁﬁm(m)
gwe R #HIfET

(1) mﬁtm%ﬂaﬁqﬂ

Wy | e | wE | Rh| o =y
3 3 S 3
SIS 60000 | 40000 | 800 | om0
s | %000 | 60000 | 10500 8,850
faaw 75000 | - 50,000 17,500 8,000
| JEFEEX | 90,000 _60,0(;0 0 | 78%
TaT 105000 70000 | 12,000 7,300
feg=t | 120000 80000 | 12000 | - 7050

@ 1 faamR =1 dwg (Hw) A9 T 47,000

3 UE IR & fF feml #1 so% e § M
AR 25% WAE SUR WY WA |

@ TH W W% SUR fawt 1 75% agd &
R fawl &1 A WA AR 20% TG TN
I ewieE W (FE W) |

) UR TG # 70% TH WER & a& T
ﬁ»‘mm%aﬂtﬁﬂlm%mg'ﬁﬁaqﬁ
# Wit @ wg fEw o ¥
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)
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©)

(10)

Q)

(12)

( 19 ) | 012

Cw oW R AR R (e A) weed

TR fea s ®)
m_aﬁﬁwﬁmﬁtz,momwwﬁlﬁ
2 |
Qﬂiﬂﬁﬁ%'méﬂ@aﬁaﬁm@m-ﬁm
s wd § whw W b
ﬂ?ﬁﬂﬂ?ﬁo,oooﬁﬁ'ﬂ?ﬁﬂ%%éﬂtwm
i fea R | |
?10,2so%ﬁ%wqi‘w%ﬁm=lwﬁmﬁ‘@7nl

FEA F UG T 1,00,000 B 10% fea=w ¥ =S

St A, @, faeer v fmmr # 23 ¥

fordt w8 4 79 w FH D A Hq,
3 WA # fou 9% ¥ & slegrR Y oo

'mﬂaﬁﬁ%ﬁkwaﬁ%maﬁm

F WA B AR R q o et @
T THA IH AU sieRerR W =S 9
FR@l Hifeu |

PTO,
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(@ “Advertising is defined as paid form of Non-persony)
presentation and promotion of ideas, goods or SeWic;S.
by an identified sponsor.” Explain the statement. Algo

discuss the indispensable role of advertising. %R

(b))  What is Advertising Budget ? Discuss the various methods
of setting an effective advertising budget. 146

(37) "o = TR vt @ fe Wi
g g faEi, agell @ densl w agE
XN e e & w9 A TRl R ™
31" 3@ e # owe Hiegl famr 7
saferd yfrr W == RIS

(7) fag @ F ¥ 2 TH g far aw
Froff w3 ® faf e ® fee e

Or/(m
(a) Discuss the elements of the marketing communication
process. 8.
(b))  Discuss various Post-testing techniques used in measuring
7

effectiveness of advertising.
(a)wwm%aﬁﬁﬁﬁaﬂﬂﬁm'
() ﬁwﬁ_gmﬂwﬁm&méﬂﬁ
et fafi dre-dfEn wEAE F e
)
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(a) Enumerate the various message formats using suitable

examples. | 8

(b)  Is advertising changing social and cultural values related
to consumption pattern of the Indian consumers ? Justify
your statement in the context of increasing consumption

of fast food and junk food. | 7
(31) IR TN FH TGN F gC o= 2w
TEY St YROOAT FHISU|
(3) ¥ foqa 9Rdg SudiEedl & 39d e 9
wafuq g ok wiephos Ted 1 Sed
W R ? W HE IR :##;'q§g.iﬁ TG TR
# " d o wUH W 3w sewEd
Or/(3FAT)

(a)  The preparation and production of a copy is the main part
of advertising campaign. Discuss the elements in a print

copy. | 3

(b) A successful message strategy touches both the rational.

and emotional aspects of human psyche. Give your

comments, 7

P.T.O.
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(37) wffefs #t R ok sew fammA St

(@)

()

(1)

1 e feew ¥ fiz w0 @ o WA
HifSa |

W TEA Wy WA A # o 3
AT T e O Tege H R
¥ e T AT

Explain any two of the following terms i

(/) . Media Planning

(7)) Media Selection

(i) Media Scheduling. » g
f‘ln‘teractive media and expansion of internet is giving an

extended dimension to advertising.”

In the light of the above statement, discuss the benefits

of advertising on the internet. L

frafafed & @ 5 §f w3 =t e it
() wifear faeH

i) wifeam ==H

i) wfem feregfe



()

(a)

)

B 1)} i
( 5 ) .,

"Sufren e it sevie w1 fawm faRTH
N T frefRa omm 2 @ el
STHH ®o & oA ¥ setie W faRmr
N & el W == wfe

Or/(319A)
Define reach, frequericy, gross rating points and cost per

thou_sands as the terms of media use. 8

What is meant by clutter in media 2 What are the ways

advertisers might deal with the increasing amount of clutter

found on television ? 7

(1) wifem swm @ w3 # wgw, smaf, wEa W

(a)
(b)

forgett 9o wft &R *iwa = wfewfim Fifw

(@) Tifew ¥ sERa (Femwe) w1 o sy

? 7 2cfifos W fammemet W wed
W@ﬁﬁ%ﬁ%ﬁﬁ%ﬂ%?

Discuss the criteria for selection of advertlsmg agency. 8

Discuss the legal framework of advertising in India and

mention the role of ASCI in self-regulation, 7

(a)mm%w%mﬁaﬁﬁaﬁm

Hifem |

P.T.O.



(@) w & fagr & FLH A H PR i
am @-fafrma § ascl ®1 @ w1 oo
ity |

Or/(3792)
(@) Discuss various types of advertising agency. What are

the major functions of an advertising agency ? 8

()  FEthical and legal aspects of advertising in India are the
most debatable topics in the modern context when many
transitions are going on .for using ser_lsual and sociél appeal _
in advertising for various products. Discuss the impact -
of sensual and social appeal on Adolescents. 7

(%) fomrm o & fafi wRl R frde st
™ faa et ® owge e e § 2

(F) wRa # fomrm & ek iR weq Sy
wadl § e wew @ fawg ¥ ww fafre S
% o fommm & WOt ok amifes erde
T I FH R I wE wRade ()
TR R RN W daeere sk W
AR R ERICER- R e e e a’ﬂﬁml |
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Write short notes on any rhree of the following - 8
(@)  Surrogate Advertising

()  Types of Pre-tests for evaliating advertising effectiveness
(¢ Advertising Lavout

(@)  Agency-Client relationship

(¢) DAGMAR Model.

et § @ el @ W dfaa froh fafeT

(¥) DAGMAR HIEd |

’ A
e T . [
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